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8A; Algebra 1 5
( How Do We Multiply Two Binomials?
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To multiply a binomial by a binomial we can use one of three methods:

1. Simple multiplication
2. The Table Method (Geometric Approach)
**3. FOIL (Double Distributive) F =First O=Outer I=Inner

Example: (x +3)(x+2)= W %ﬁ Y‘\ g

Method 2
The Table/Box Method

L = Last

Method 1

Simple Multiplication
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Will a binomial times a binomial always yield a trinomial answer? N0\~ 2 (o« e(ddd(( y
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8) Find the area of a square whose side measure (y + 4).
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9) A rectangle has a length o x - 4) units and a;m'(Jz‘g +5) units. Write a ( ;
trinomial that represhe rectangle.
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10) Find ’rhof a rectangle whose base is (c? - 2¢ + 4) and whose height is (c + 2).

(Can FOIL be used in this example? NO Explain. FO T Lol ber i Ll
WCQ‘DS/L{___\T-——' /\ ; L b Lé—f 3o Plinitaii- Oﬂlaf
D\o\b\bxi_?,q___f‘ C+2 N - " >

e : a S
PE Loty NT ¢’ Erer=20D do ik +38
1) (7R
3 2

K7 =X5HY s =2xL )% -8 ‘ b““(/( ‘.

— ¥




Ta

{
Use the following table to help you evaluate the fo Uq products

12) (x + 3)(x + 5) 13) Ix - 3)(x + 4)
(b X 5 * X -3
X[x2 o | x| YE
3 [ 3 [I5 4| ¥ |2
WEe B #Sx 45 kP +n 8% ~12

( K- +8 % +.f5j ngx 12

Cngcge a leox diagram and then use it to find the following products
14 (x <2)(x - 2) 15) {(x + 1)}(2x - 1)
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16) Use the following table to help evaluate the following product
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(x-2)(3x2 —dx+7) =" ' 3 4x 7
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